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Page 47– Activity 1

1 joust 

2 knight 

3 lance 

4 castle

Page 48 – Activity 2

1 c

2 a 

3 d

4 b 

Page 49 – Activity 3

1 yes 

2 yes 

3 no 

4 yes 

5 no

Page 50 – Activity 4

1 a

2 a

3 a

4 b

Page 51 – Activity 5

One day, a knight in red armor 1came to the 

castle. He 2was the Red Knight. He 3wanted 

someone who could joust with him. But the 

Red Knight didn’t have a boy who 4could help 

him. Tom said, “I was a knight’s boy before, 

and I can 5be your boy now.”

Page 52 – Activity 6

1 around your neck

2 yes

3 the Red Knight

4 no

5 help you

Audio script

One

“Put this around your neck.”

Two

“I have one. It’s the same.”

Three

“I am the Red Knight.”

Four

“I haven’t got a boy.”

Five

“I can help you.”

Page 53 – Activity 7

Reader’s own answers

Model answers

1 There are two knights.

2 He is in front of the Red Knight.

3 He is saying, “I can help you. I was a 

knight’s boy before, and I can be your  

boy now.”

Page 54 – Activity 8

1 old days 

2 lances 

3 strong and quick
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Page 55 – Activity 9

1 a 

2 b 

3 b

4 c

Page 56 – Activity 10

1 They are watching the joust.

2 He is wearing (red) armor.

3 They are running fast.

Page 57 – Activity 11

1 d

2 f

3 a

4 e

5 b

6 c

Page 58 – Activity 12

1 Whose lance broke?

 The Red Knight’s lance broke.

2 Who won the joust?

 The Red Knight won the joust.

Page 59 – Activity 13

1 a 

2 a 

3 b

Page 60 – Activity 14

Reader’s own answers

Model answers

1 They lived in castles.

2 Knights traveled on horses.

3 He had to clean armor.

4 Yes, I would.

Page 61 – Activity 15

Reader’s own answers

Model answers

In picture a, Tom is a young boy. He is older in 

picture b.

In picture a, Will is wearing armor, but he 

isn’t wearing armor in picture b.

In picture a, Will is giving Tom the gold coin. 

In picture b, Will and Tom are wearing  

their coins.

Page 62 – Activity 16

Reader’s own answers

Model answers

1  Picture a is different because Tom has  

short hair.

2 Picture a is different because the Red 

Knight is wearing armor.

3 Picture c is different because the  

lance broke.
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